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H22. 4.1
kg/®cm 10
kg/3 kgl3

2 1 2 3
( JAS JAS JAS

K4 K3 K2
0 4 . 9.0 4.5 2.3
2 2 5.2 2.6 1.3
. 0 1 2.0 1.0 0.5
. 0 1 2.0 1.0 0.5
.4 3 6. 4 3.2 1.6
. 0 2 4.0 2.0 1.0
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H22. 4.1

kg/3

80 %

80 %

80 %
80 %

80 %
80 %

10mm

10mm

50mm
10mmM 0%
80 %
50 mm 75 mm
15mmMO0%
80 %

75 mm
20mn8 0 %
80 %

30mn8 0%

1/

1/

1/

2

2

2
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4 .56 .
06 .|08 .
4 .06 .
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H22. 4.
50 %) 75 W)
(m 101 1
50 %
40
75 %
40
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H22. 4.
50 %) 75 W)
(m 101 1
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40
75 %
40
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H22. 4.1

10cm
l14cm l1cm 14cm 2cm

42 12 8 1841

x x 1/10000

m3

"4 [/ 22x x 1/10000

m3
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1. 5m
A
26mMm30ch0oem5c 58 h0cm
A 178 Hh5cm
( ) 1 A 2
A
1962
B/ H (B/ Hpcosigns H
KNmM
y s KN
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H2 2.

1
|
1
|
a

1 2\
A

50 KN/ m2
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H22. 4.1
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0101. 015

0.013

0.

0102. 018
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1K K = 0.00
0 = 90. CO
H = 3.0m®
H1 = 1. 5@
H2 = 2. 0®
b = 1.8
L1 = 0.9
L2 = 0.9m®
L3 = 3. 6mMm
Ah = 0. 3m
= 11. &N/ m3
= 18. KON/ m3
= 8. 2N/ m3
= 1.65mMm
) = 7.30ON/ m3
) = - 2. %N/ m3
= 30.00
( ) Ce = 0.333
f = 0.70
Fa 1.00
e = 16 B
Qa =100.KKR/ m3
Ce 1—s!n((p): 1—s!n(30.00)
l1+sin(o) l1+sin(30.00)
= _0.333
0.8t/m’
7.30 kN/m3 0.8x (1-0.07)x 9.81 7.30
-251 kN/m3 730 (1.0x 9.81) -251
11.80 kN/m3 12x 981 1177 1180
8.20 kN/m3 18.00 9.80 820
18.00 kN/m3 18x 9.807 17.65 18.00
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11
111

(A1-B1 )

W h'(
El HL
3
B2 V2 g S
B3 S
Ve 3
o
VB Q Fo
@ lg -
L2 L1
L3
0.37
150
2.00
3.00
1.80
0.90
0.90
3.60
1.50x 1.80x 7.30 = 19.71 /m
1/2x 1.80x 0.80x 7.30 = 5.26 /m
1/2x 1.80x 0.80x -2.51 = -1.81 /m
1.80x 0.70x -2.51 = -3.16 /m
0.90x 1.00x -251 = -2.26 /m
0.90x 0.50x -251 = -1.13 /m
0.37x 3.60x 11.80 = 15.72 /m
1.80x 1.50x 17.70 = 47.79 /m
0.90x 0.50x 7.90 = 3.56 /m
0.90x 1.00x 7.90 = 711 /m
0.37x 3.00x 11.80x 0.33 = 4.32 /m
1/2x 3.007"2x 17.70x 0.33 = 26.28 /m
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(a

-1
(m) Meg'(KN m Mog'(KN m

1971 180% (1/2) 0.90 17.74
5.26 1.80x (1/3) 0.60 3.16
_181 1.80x (2/3) 1.20 217
316 1.80x (1/2) 0.90 284
226 180 0.90x (1/2) 225 _5.09
113 270 0.90x (1/2) 3.15 _356
1572 3.60x (1/2) 1.80 2830
47.79 180 1.80x (1/2) 2.70 129.03
356 180 0.90x (1/2) 225 8.01
7.1 270 0.90x (1/2) 3.15 22.40

432 |3.00x (1/2) 150 6.48

26.28 [3.00x (1/3) 1.00 26.28

90.79 30.60 194.98 3276

(b
2
(m) Meg'(KN m Mog'(KN m

1971 180% (1/2) 0.90 1774
5.26 1.80x (1/3) 0.60 3.16
_181 1.80x (2/3) 1.20 217
316 1.80x (1/2) 0.90 284
226 180 0.90x (1/2) 225 _5.09
113 270 0.90x (1/2) 3.15 _356
47.79 180 1.80x (1/2) 2.70 129.03
356 180 0.90x (1/2) 225 8.01
7.1 270 0.90x (1/2) 3.15 22.40

26.28 [3.00x (1/3) 1.00 26.28

7507 2628 166.68 2628
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112

Bl

B2

x ¥ 2
0.70x 90.79/30.60

Mos- 2
(194.98-32.76)/90.79
1.79m

e /

(3.60/2) 1.79
0.01m

x +(6e )

(90.79/3.60)x 1% (6x 0.01/3.60)

2522 x (1t 0.02)

2572  /m?
2472  /m?
xy 3

0.70x 75.07/26.28

Mos- 2
(166.68-26.28)/75.07
1.87m

e /

(3.60/2) 1.87
-0.07m

x +(6e )

(75.07/3.60)x 1% (6x -0.07/3.60)

2085 x (1t -0.12)

1835  /m?
2335  /m?
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=1.00

1.20m

1.20m

0.60m

0.60m

100

=1.00

1.20m

1.20m

0.60m

0.60m

100

1.00
2.08

/m?

1.00
2.00

/m?

OK

OK

OK

OK

OK

OK

OK

OK
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0.42|m 2.00 |m 8
05 04 |m 5
200 272 |(m
(B) 400 |m
(Ver.1.0.0
y 0= 118 /m3
y s= 17.7 /m3
y = 73 /m3
0.2 m
0.17 m
0.029 m2
0.029
| [ 60]m
6.00 2.72 2.00+0.40 2.38+2.04+1.70+1.36+1.02
= 5304 m°
A 272 | 200 5.440 2.00
972.00X0.0290 B 238 | 040 0.952| 240
= 28188 m° C 204| 040 0.816] 2.80
D 1.70 | 040 0.68| 3.20
E 136 | 040 0.544| 3.60
53.040 28.188 F 1.02| 040 0.408] 4.00
= 24852 m° G 0.68 4.00
H 0.34 4.00
|
0531
0.469 4.00 8.840| 26.00
192 30 780
972

[ 12173 /m3]
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V MH
1 66.221 3.0 198.6630
2 11.589 1.8 20.8602
3 9.933 14 13.9062
4 8.278 1.0 8.2780
5 6.622 0.6 3.9732
6 4.967 0.2 0.9934
7 0.000 0.0 0.0000
8 0.000 0.0 0.0000
9 0.000 0.0 0.0000
10 0.000 0.0 0.0000
> 107.610 2.2923 246.6740
1 9.912 3.0 29.7360
2 1.982 1.8 3.5676
3 1.982 14 27748
4 1.982 1.0 1.9820
5 1.982 0.6 1.1892
6 1.982 0.2 0.3964
7 0.000 0.0 0.0000
8 0.000 0.0 0.0000
9 0.000 0.0 0.0000
10 0.000 0.0 0.0000
S 19.822 2.0001 39.6460
1 4.489 1.3600 6.105
2 21.803 0.9067 19.7681
> E 26.2920
> 127.4320 26.2920 286.3200 25.8731
Vv X
X
w
X
: X X X :0.333
2. 2 /2x X :17.7KN)
1 /2
2. /3
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Wi

W2
w3
w4
El W5
E2 W6
D1 D2 D3 D4 | D5 | D
(A) (B) (€) @) | () | (F)
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10

> /3 2423398752
1 2.4234 oK
My-M)/Z 2043810817
/2- ~0.04381082
/6 0.6667 0.0438 OK

>/ x 1+ 6e/B)
127.43/4.00 X (1+ 6X-0.044/4.00)

1 29.764 200 OK
P2 33.952 200 OK
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1K K

H1
H2

B1l
B2

Ah
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= 0.00
= 90. CO0
= 3.0
= 1. 5@
= 1. 5@
= 1.5m
= 2.5M
= 1. 5@
= 1.0m
= 0.3m
= 11. &N/
= 18. N/
= 30. 00
= 0.333
= 11. %N/
= 0.60
1.50
= 16 B
=100. bR/
1-sin(30
l1+sin(30

m3

m3

m3

m3

[eNe)
[eNe)
— —



1
W
T
Phl 3
Ph2—
9
B

2
Phl=ywxAhxHxCe

=11.80x0.37x3.00x0. 4. 3N/
Ph2=1/2xywxHxHxCe

=1/ 2 x11.80x3.00x3.00x013B3&a/
W1l = ysxB1lxH

=11.50x1.50 .00 51. KN/
W2 = ysxB2xH2

=11.50x1.00 .50 17 . KN/
Wd1l= Ws xH1xB2

=18.00x1.50 .00 27 . KON/
Wwl=ywxBxAh

=11.80x2.50 .37 10. KN/
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A h



1
(K Nm (KN nim
H V (m) Mo Mr

Ph 1 2. 3|6 1.5006.54

Ph 2 17. 68 1.00017. 68

W1 51.75 . 750 38. 81

W2 17.052.000 34. 50

wd 1 27 . 0b02.0bo0 5400

Ww 1 10.021. 250 13. 65

5 22 04 106.|92 24. 92 140.|96

= X
= X
2
1)
f x SV. 0.60 x 106.92 B

Fs =1—2= - B et 9291 Fa=1.50..0K

2)
_ Mr - Mo 140.96 - 242
X =—5v = 106.92 126
e = 1/2xB-X 1/2x2.50-21.0916 1/ 6xB=0.

3)

Fs —= ZBV x 1_168L)

__106.92 ( ; 6x0.3}6
2 .50 2 50
= 59.19 KN/ m2 26.35 KN/ m2
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